Financial, Treasury and Forex Management

373

Roll No. ...ccciviiiiiininnnnn,

Time allowed @ 3 hours Maximum marks @ 100

Total number of questions 7 Total number of printed pages . 7

NOTE : 1. Answer FIVE Questions including Question No.l which is compulsory. All working
notes should be shown distinctly. -

2. Tables showing the present value of 1 and the present value of an annuity of 31 for
15 years are annexed.

1. Comment on any four of the following :

() A treasury manager has a significant role to play in the overall functioning of a firm.
(iiy A firm’s stock price is not related to its mix of debt and equity financing.

() Depreciation is a source of internal finance. .

(iv) A stable dividend policy is always preferable to fluctuating dividend policy.

(v) Risk and uncentainty are quite inherent in capttal budgeting decisions.

¥ (5 marks each)

2. (a) Indigo Ltd. has the following capital structure :

v in Lakhs
Ordinary shares of ¥1 each 1,000
Retained eamings 160
8% Debentures 440
1600

In order to undertake a programme of expansion, the company requires to raise additional
capital of T400 lakh and three altemative financing schemes are under consideration :

(1) A rights issue, at nominal value, of an additional 400 lakh ¥1 ordinary shares; or

(iiy  Issue, at nominal value, 400 lakh, 10% preference shares of I1; or
@iy 1ssue an additional T400 lakh of 8% debentures.
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(b)

20

Without the expansion programme, Indigo Ltd.’s estimated annual profit before interest and tax
in the foreseeable future is 200 lakh. If the programme proceeds, this will rise to 280 lakh.

At present, the market values of the company's securities are :

Ordinary shares ¥5.40 (ex-dividend) per share

Debentures T110 per T100 nominal
and the last ordinary dividend was 20 paise per share. If expansion does not take place,
ordinary dividends are expected to grow at a constant rate of 2.5% per annum. Aflter some

initial fluctuations, the anticipated effect of expansion on dividends and market values is
expected to stabilise as follows

Expansion Financed by

Rights Preference Debentures
Issue Shares
Market value of an ordinary share ¥5.60 T5.80 36.00
Market value of debentures per 100 nominal T110 110 <108
Market value of a preference share NA T1.14 NA
Annual growth rate in ordinary shares 3.5% 4.0% 50%

The company’s profit is subject 1o corporation tax at 35% and this rate is unlikely to change.
You are required to calculate for each altemative financing scheme :
() the gearing ratio
(i) the profit available per ordinary share
(i) Weighted average cost of capital based on market value.

Calculations may be restricted to two decimal places.

(14 marks)

Rani has invested in a share whose dividend is expected to grow at 15% for 5 years and
thereafter at 5% till life of the company. Find out value of the share, if current dividend is 34
and investor’s required rate of return is 6%.

(6 marks)
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Peacock Ltd. has been engaged in manufacturing of textiles. It has a current sales of ¥30 lakh
per annum. The cost of sales is 75% of sales and bad debts are 1% of sales. The cost ol
sales comprises 80% variable costs and 20% fixed cost, while the company’s required rate of
return is 12%. The company currenly allows customers 30 days’ credit, but is now considcring

increasing this to 60 days’ credit in order to attract more customers.

It has been estimated that this change in policy will increase sales by 15%, while bad debts
will increase from 1% to 4%. It is expected that the policy change will not result in any
increase in fixed costs, creditors and stock level,

Should Peacock Ltd. introduce proposed policy ?

The following information is related to Evergreen Ltd. :

Unit cost 3200
Order cost 3320
Inventory carrying cost 340

Back order cost (stock out cost) 320
Annual demand 2,000 units

You are required to compute the following :

W
(1)
(i)
(iv)
V)

Minimum cost order quantity
Time between orders

Minimum number of back orders
Maximum inventory level

Overall annual cost.

4.  Distinguish between any four of the following :

)
(i1)
(i)
()

v)

1/2011/FTFM

‘Current account’ and ‘capital account’ in balance of payment.

‘Foreign direct investment’ and ‘portfolio investment’.

‘Ask price’ and ‘bid price’.

‘Horizontal capital structure’ and ‘vertical capital structure’.

‘Investment’ and ‘speculation’.

(10 marks)

{2 marks each)

{5 marks euch)
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5. (a) Excel Ltd. is considering investing in a risky project which would be added to an existing
portfolio of investment projects, also subject to risk. It envisages six possible states of the
economy for which it has estimated probabilities and outcome as follows ;

State of Probability Return on Return on
Economy Existing Porifolio  Proposed Projects

1 0.1 12% 8%

2 0.2 14% 10%

3 0.2 15% 12%

4 0.3 16% 10%

5 0.1 18% 14%

6 0.1 - 20% 6%

You are required to determine whether the project should be accepted. The risk-free rate of
return is 6%.

(10 marks)
(by The following details of Alpha Ltd. for the year ended 2010 are furnished :

Financial leverage 2:1
Opergt'mg leverage 31
Interest charges per annum 320 lakh
Corproate tax rate 40%

Variable cost as percentage of sales 60%

Prepare income statement of the company.
(6 muarks)

(c) Mohan has a portfolio of 6 securities, each with a market value of ¥10,000. The current beta
(B) of the portfolio is 1.30 and B of the riskiest security is 1.80. Mohan wishes to reduce his
portfolio B to 1.15 by selling the riskiest security and replacing it with another security with a
lower . What must be the f of the replacement security ?

(4 marks)
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5
6. Tollowing information is extracted from the books of Perfume Lid. at the end of financial year
2010-11 :
Net sales ¥20,00,000
Debt-assets ratio 0.6
Debtors turnover ratio based on net sales 2.0
Inventory (umover ratio 1.25
Fixed asscts twmover ratio” 0.80
Net profit margin 5%
Gross profit margin 25%
Return on investment 2%
Balance Sheet as at 31Y March, 2011
Liabilities 4 Assels 4
Equity 7 Net fixed assets i
Long-term debts ? Inventory ?
Short-term debts 10,00,000 Debtors 7
Cash ?
f? ?
Calculale —

(iy  The working capital available with the company on 31" March, 2011.

(i) Its permissible bank borrowings as per sccond mcthod recommended by the Tandon
Comimittee,
(20 marks)

7.  Write notes on any four of the following :

(M
(i)
(iii)
(v)
v)

Sweat equity shares
Benefits of depository system
Operating cycle
Risks in forex market
Interest rate parity.
{5 marks each)

1/2011/FTFM P.T.O.



373

Z5e00
2B6EQ0
gryr00
20500
€4500
6¥30°0
9£./00
$EBOO
6¥60°0
6.0L°0
TN
LOFL 0
66510
FRA: TN
06020
yeETO
§v.20
ZSiE0
¥29E0
ELIPO

o] B3]

sl
HY3IA

0v¥0°0
Z6v0°0
15500
81900
£690°0
61L00
9/80'0
58600
0LLL0
5210
EL7L0
16610
20810
9v0z'0
0Z€Z0
£€92°0
26620
SOVE0
8L8E0
£2YY0

LG0S°0

L

HY3A

068500
01800
9,800
o FANY]
6£80°0
SEBO0
<hoLo
£9L1°0
66210
rAS 4 QY
5Z9l0
LZ8L0
yoZo
[ATAAY
G452°0
LB8Z°0
29¢L0
249€°0
0S¥’ 0
889P'0

E0ES0

£l
HY3A

1890°0
45400
¥E£80°0
0ZB0°U
SLOL0
ZeLLo
) FAN]
c¢LELO
0Zsto
G851°0
698170
9.02°0
L0ETO
296270
BSBZO
9810
§55E°0
LLBE'D
orvQ
0L6¥0
89550

cl

HY3IA

65800
ges00
§¢0L°0
ZZLL0
9zZLo
arel0
9i¥i0
61910
8LLL0
ySEL°0
6¥L20
99£20
40920
§/82°0
EL1E0
S0SE0
G4BEDQ
68Zr 0

LSi%°0

89250

L¥85°0

‘

HY3A

v.0L°0
¥oLLO
[ASTANY
69€1°0
981’0
S19l’0
95210
LBL0
08020
19220
FAR AV
169270
g¥6Z'0
0zZeeo
FAA 1Y
G68E0
¥Zev'o
CESY0
£B0S0
8550

6EL90

ot

HVY3A

reEL’o
Ervl0
esst0
049L0
664170
BEGLD
060Z°0
SGZT0
vEPZ 0
0E9Z0
[N TAY
S.0£°0
62EE0
S09e0
606E0
LPZP O
y09r'0
¢005°0
6EPS0
61650

Sr¥e'0

6
HvY3A

8.910
68410
606L°0
8£02°0
VA
9ZeL o
18%Z0
0992°0
8vee 0
0S0E'0
692¢0
905€°0
29.4£°0
6EOFO
BEEP O
§95v°0
61050
£O¥S0
02850
¥4250

99.9°0

B

dvdA

16020
81220
BPEZ 0
$8ve 0
££9C0
L6420
65620
6ELED
ZEEE0
BESE0
6SLE0
966£°0
LSZP0
£ZSY 0
Z18¥0
CELSO
0L¥S0
GEBS'D
22290
15990

L0440

Fa
HVY3IA

12920
154¢°0
88820
£E0E0
98it0
6YEE0
L2seE0
POLED
868¢€°0
¥oLp0
ECTEPO
9e55v 0
£08p°0
99050
greEso
SP95°0
£965°0
¢0E90
£999°0
05040

ZorsLo

9

HY3IA

L1ZE0Q
LPED
€Sse0
004€0
GSBE0
6L0F°0
05490
LLEPO
L9S¥0
194v°0
¢L6P0
P6L5°0
BZFS0
p295°0
SE650
60290
8690
90890
0ELLD
ELPL0

SEBL0

5

Hv3IA

INO 33dNY 40 INTIVA INIS3Ad )} -378VL

S60%0
oEZP 0
69EY 0
145140,
§95%°0
£Z8pr0
A:ihdy
BSISO
LEES0
£255°0
814570
L2650
£EL90
S5E90
18590
0£88°0
¥BOL0
0SELD
629.°0
L2640

12280

dv3A

0Z2LS0
SPZS0

pLESO

L0850

§P95°0
18450
¥EES0
98090
yrZo0
10¥9°0
§4590
05.90
LEBIS0
8LLLO
CLELD
£154°0
2eLl’o
BEBLD
£918°0
9680

€980

HV3A

00¥9'0
¥059°0
0L99°0
61490
0£99'0
690
29040
28140
SO0EL0
ZEPLD
195270
$69.70
L8470
2.64°0
SLig0
$az80
L1870
£199°0
yEL8°0
00680

0060

Hv3A

00080
59080
0ELR0
L6190
#3280
£EER0
£0¥80
GL¥R0
/%580
17980
96980
24280
058870
62680
600670
L606°0
v/ 160
6526°0
9bE6'0
PEVE 0

¥Zse0

Hv3A

%SC
bl
%HET
Ytl
%Le
%0¢
%61
%81
Yl
%3l

%St

%vl
%EL
%Zl
Y%atbt
%04
%6
%8
Yol
%9
%S

Iy

Contd ........

11201 1/FTFM



373

£659°¢
EL00'%
oSy
ZSLEY
068¥p
§S19v
65.9'v
9L60°G
pZe’s
§GLGS
pLPa'S
[A 4
pPZor'9
60189
60612
L9092
2090'8
56558
6016
ZTLLB
2628701
5l

HY3IA

L¥ZBE
9196’
2801y
oA
Lier'y
801L9F
£Z08'y
1800°S
£622°G
SL9p'G
SPTL'S
LZ00°9
§20L9
28799
6L86'9
£99¢°2
29822
A4 4
G5v.i'8
05626
96686
vl

UVIA

10gL'e
PZLBE
0EG0'v
gzot'v
(g4 158 4
LZESY
FA YA 4
GE06'%
£g8hL’s
£TPE'S
L€8S’S
[ fAL R
8LzZ1'9
geer9
66pL°9
pEDL L
6987 L
ge06’ .
2198
12599
9e6E6
£l

UYA

3T A
pisa'e
2586°C
| XA
sy
C6EY'Y
S04L9°p
ZE6L'Y
vE86Y
LLGLS
90Z¥'S
£E099'S
9.16°G
519
¥Z6v'9
1E18°9
209172
19E5°.
LEZPGL
gege’g
£E£98'8
43

HY3A

¥359°'C
1520°€
gl06'¢
¥SEO P
691y
L12ey
598P'Y
0959y
poes v
98Z0°5
FARNAS
125P'G
696895
LIE6'S
59029
LS6¥'9
2508’9
osel 2
186%2L
69882
rooe'g
Li

dV3IA

G045'¢

6L89E

£66L°€

ZEZ6°E
L¥G0'y
5Z6L Y
6EECD
b6y P
9859
zZeeg'y
8810'S
19125
Z9Ty's
2059
689G
9vv1'9
LIVWS
LOLL'S
98702
L09E L
Y]
ot

HVY3A

Legre
§595°¢
1£29°¢
€98.°€
506°€
oLeg'y
eeoL 'y
geoe'y

905y’ ¥

. 5909

aLLl'y
yapev
LLELS
A TAN
0LE8°S
06S9L°G
Z566°%
69rC9
Zgsiso
21089
g/0t'2
&

yvai

LA
[ATA 4>
B215°€
E6L9€E
9szL't
Zigge
vrS6'e
8.//0%
L0y
210 450 4
£L8PY
68E9'p
886.L'p
9196°¢
torl's
BYEe’s
awres’s
agv.L's
£L/6'G
86029
ZEe9r'9
8

HYIA

LLOLE
geree
0lZe'e
GSLp'e
6.05°¢€
Spoo'e
180.°¢
GLLEE
veee'e
9820y
FOSLy
£88CY
9cer'y
9e9s'y
ZZil'y
rB98%
0£L0’s
va0Z2°S
£68E'G
vZ8%'s
v8.l'g
L

HY3IA

pLSE'C
s0Z0°¢
€260t
699L°¢
grel’e
GSZe'e
B6OVE
9l6v'E
4121
1¥89'E
G¥ra.L'E
/888°¢
GLB6'E
LY
LA
E55EY
658% v
62297
599.°%
AN
£5/0°G
9

HYIA

£589¢C
vsrl'Z
ge08'e
9e88'¢
0926°¢C
9086°¢
9./50°€
(A RAR
£66L°C
1N F A
[AAT
LECP'E
cLiSE
ard9'e
6569°C
806.°€
1688t
21286¢€
Zool'y
ety
GEZE Y
5

HVIA

91982
evovre
£8¥PT
9e6ve
¥ovse
2885°¢
98£9°¢
L069°C
cEPLT
Z86.°2
0558°¢
LEL6°C
SPi6°C
eLEDE
vZolL’e
6691
LBETE
lZiee
ci8ee
LG9v'e
oovs'e
4

-L-EPS

3NO 334Ny 40 ALINNNY NY JO INTVYA LINISFHd -2 -FT7aV1

02564
£185°1
PLIOZ
zv0T
6502
59042
66512
EvLLT
96022
B5v2Z
25822
a1zez
2196z
8L0pZ
LEvbT
69852
£1EST
VST
£v292
0892

[AXA NS

HYIA

oovy'L
8asy’l
oviv')
GLEY'L
G605}
BLZS')
S9rSE
9595}
2589}
25091
£529°L
L9v5}
1899°L
L069°}
GZLLL
Seel’)
LBSL)
EERL’}
08ae’l
pEE8’t
v658'}1
4

HVY3IA

00080
§908°0
ncLeo
L6180
3280
£LE80
£0P8°0
G.¥a8°0
Ly58°0
12980
95980
¢80
05880
6268°0
60060
150570
v/L6°0
6526°0
9%Le 0
YEVE0

IZATY

YYIA

%ST
%bZ
%ET
%eT
%Lz
%02
%6l
%8l
%L}
%9L
%SH
%l
%EL
%}
%l
%0}
%6

%8

%1

%9

%S

ENA-L.

17201 I/FTFM





